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dicht 0.5 1.0 1.5 open
Radiatorvoeding % 0 100 100 100 100
Kv: m3/u/AP=1 bar
Kv (t=2K) 0 0.44 1.04 1.28 131
Voorbeeld: radiator 4 KW (Tabel AT=50)
AT=10°C (75 - 65 =10°C)
AP =0.1bar
Aantal omwentelingen =1
Kv=1.04 m3/u
"l‘nvg'é Aantal omwentelingen om te openen
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Waterdebiet in kg/u
M=5C 7 e
002 004 01 02 0304 06081 b 345 7 10 15w
M=10C T
. 01 02 0304 06081 2 3(®)s 7 w0 0 30 KW
T T
0.1 02 0304 06081 2 3 45 7 10 1520 30 40 kw
A=20C .
0.1 02 0304 06081 2 3 45 7 10 20 30 40 50 kw
02 0304 06081 2 3 45 7 10 20 30 4050 70 kw




